[}
(]
=
[~}
7]
7]
]
)
o
<<

48

Accessories

7203E-24
Solid Steel
Door

7202E-M29
Mesh Door

\ % \%
7202E-29 7204E-24 7202E-24PV
Plexiglas Perimeter Perimeter
m Door Vented Steel Vented
Door Plexiglas
Door
PART NO. DESCRIPTION
Plexiglas Doors
3002E-24 Plexiglas Door for 30"H x 24"W Base Unit
4802E-24 Plexiglas Door for 48"H x 24"W Base Unit
6002E-24 Plexiglas Door for 60"H x 24"W Base Unit
7202E-24 Plexiglas Door for 72"H x 24"W Base Unit
7202E-29 Plexiglas Door for 72"H x 29"W Base Unit
7802E-24 Plexiglas Door for 78"H x 24"W Base Unit
8402E-24 Plexiglas Door for 84"H x 24"W Base Unit
8402E-29 Plexiglas Door for 84"H x 29"W Base Unit
Perimeter Vented Steel Doors
3004E-24 Perimeter Vented Steel Door for 30"H x 24"W Base Unit
4804E-24 Perimeter Vented Steel Door for 48"H x 24"W Base Unit
6004E-24 Perimeter Vented Steel Door for 60"H x 24"W Base Unit
7204E-24 Perimeter Vented Steel Door for 72"H x 24"W Base Unit
7204E-29 Perimeter Vented Steel Door for 72"H x 29"W Base Unit
7804E-24 Perimeter Vented Steel Door for 78"H x 24"W Base Unit
8404E-24 Perimeter Vented Steel Door for 84"H x 24"W Base Unit
8404E-29 Perimeter Vented Steel Door for 84"H x 29"W Base Unit

Perimeter Vented Plexiglas Doors

7202E-24PV  Perimeter Vented Plexiglas Door for 72"H x 24"W Base Unit
7202E-29PV  Perimeter Vented Plexiglas Door for 72"H x 29"W Base Unit
7802E-24PV  Perimeter Vented Plexiglas Door for 78"H x 24"W Base Unit
8402E-24PV  Perimeter Vented Plexiglas Door for 84"H x 24"W Base Unit
8402E-29PV  Perimeter Vented Plexiglas Door for 84"H x 29"W Base Unit

Solid Steel Doors

3003E-24 Solid Steel Door for 30"H x 24"W Base Unit
4803E-24 Solid Steel Door for 48"H x 24"W Base Unit
6003E-24 Solid Steel Door for 60"H x 24"W Base Unit
7203E-24 Solid Steel Door for 72"H x 24"W Base Unit
7203E-29 Solid Steel Door for 72"H x 29"W Base Unit
7803E-24 Solid Steel Door for 78"H x 24"W Base Unit
8403E-24 Solid Steel Door for 84"H x 24"W Base Unit
8403E-29 Solid Steel Door for 84"H x 29"W Base Unit
Mesh Doors

3002E-M24 Mesh Steel Door for 30"H x 24"W Base Unit
4802E-M24 Mesh Steel Door for 48"H x 24"W Base Unit
6002E-M24 Mesh Steel Door for 60"H x 24"W Base Unit
7202E-M24 Mesh Steel Door for 72"H x 24"W Base Unit
7202E-M29 Mesh Steel Door for 72"H x 29"W Base Unit
7802E-M24 Mesh Steel Door for 78"H x 24"W Base Unit
8402E-M24 Mesh Steel Door for 84"H x 24"W Base Unit
8402E-M29 Mesh Steel Door for 84"H x 29"W Base Unit



Accessories

Hew
7204E-M29 8404E-24SM
Bevel Mesh Split Mesh
H Door Door
PART NO. DESCRIPTION

Bevel Mesh Doors (to achieve more cooling, use with optional fans on page 54)
7204E-M24 Bevel Mesh Door for 72"H x 24"W Base Unit
7204E-M29 Bevel Mesh Door for 72"H x 29"W Base Unit
7804E-M24 Bevel Mesh Door for 78"H x 24"W Base Unit
8404E-M24 Bevel Mesh Door for 84"H x 24"W Base Unit
8404E-M29 Bevel Mesh Door for 84"H x 29"W Base Unit

Hew Split Mesh Doors
8402E-24SM  Split Mesh Steel Door for 84"H x 24"W Base Unit
8402E-29SM  Split Mesh Steel Door for 84"H x 29"W Base Unit

>
o
o
®
o
17
o
=}
@
(7]

Side Panels
/

A

FTTTVOTTAATN
IO

=
LY

7210-32ELS 7211-32ELL

®
.

VRO
ALY

PART NO. DESCRIPTION

Lift-off Solid Side Panels

3010-32ELS  Pair Locking Lift-off Solid Side Panels for 30"H x 32"D Base Unit
4810-32ELS  Pair Locking Lift-off Solid Side Panels for 48"H x 32"D Base Unit
6010-32ELS  Pair Locking Lift-off Solid Side Panels for 60"H x 32"D Base Unit
7210-32ELS  Pair Locking Lift-off Solid Side Panels for 72"H x 32"D Base Unit
7210-36ELS  Pair Locking Lift-off Solid Side Panels for 72"H x 36"D Base Unit
7810-32ELS  Pair Locking Lift-off Solid Side Panels for 78"H x 32"D Base Unit
8410-32ELS  Pair Locking Lift-off Solid Side Panels for 84"H x 32"D Base Unit
8410-36ELS  Pair Locking Lift-off Solid Side Panels for 84"H x 36"D Base Unit

Lift-off Louvered Side Panels

3011-32ELL  Pair Locking Lift-off Louvered Side Panels for 30"H x 32"D Base Unit

4811-32ELL  Pair Locking Lift-off Louvered Side Panels for 48"H x 32"D Base Unit

6011-32ELL  Pair Locking Lift-off Louvered Side Panels for 60"H x 32"D Base Unit

7211-32ELL  Pair Locking Lift-off Louvered Side Panels for 72"H x 32"D Base Unit

7211-36ELL  Pair Locking Lift-off Louvered Side Panels for 72"H x 36"D Base Unit

7811-32ELL  Pair Locking Lift-off Louvered Side Panels for 78"H x 32"D Base Unit

8411-32ELL  Pair Locking Lift-off Louvered Side Panels for 84"H x 32"D Base Unit

8411-36ELL  Pair Locking Lift-off Louvered Side Panels for 84"H x 36"D Base Unit 9

4



Accessories

Top Panels

<

TPE-24S TPE-24P TPE-24L TPE-24F10 TPE-242F10 TPE-24F

PART NO. DESCRIPTION

TPE-24S Solid Top Panel w/Two 4.00" Horseshoe Knock-outs for 24"W Base Unit

TPE-29S Solid Top Panel w/Two 4.00" Horseshoe Knock-outs for 29"W Base Unit

TPE-24P Perforated Top Panel w/Two 4.00" Horseshoe Knock-outs for 24"W Base Unit (Black Only)
TPE-29P Perforated Top Panel w/Two 4.00" Horseshoe Knock-outs for 29"W Base Unit (Black Only)
TPE-24L Louvered Top Panel with Two 4.00" Horseshoe Knock-outs for 24"W Base Unit

TPE-29L Louvered Top Panel with Two 4.00" Horseshoe Knock-outs for 29"W Base Unit
TPE-24F10  Top Panel & Fan Assembly w/550 CFM 10" Fan & 6 ft. Cord for 24"W Base Unit
TPE-29F10  Top Panel & Fan Assembly w/550 CFM 10" Fan & 6 ft. Cord for 29"W Base Unit
TPE-242F10 Top Panel & Fan Assembly w/Two 550 CFM 10" Fan & 6 ft. Cord for 24"W Base Unit

3 TPE-292F10 Top Panel & Fan Assembly w/Two 550 CFM 10" Fan & 6 ft. Cord for 29"W Base Unit
.§ TPE-24F Top Panel w/Fan Assembly and Two 4.00" Horseshoe Knock-outs for 24"W Base Unit
§ TPE-29F Top Panel w/Fan Assembly and Two 4.00" Horseshoe Knock-outs for 29"W Base Unit
< FFK2 Three fan filter kit for TPE-24F and TPE-29F

For Fan Thermostat Controller, see page 54

Bottom Panels (for E-Series only)

< @

~ BP-ES24B

PART NO. DESCRIPTION

~—g

BPB24

BP-ES
(For GL300E, GL480E
& GLB0OE only)

BPF24 Bottom Panel, Filtered, 13"W x 16"D w/rear solid panel for 24"W enclosure
BPF29 Bottom Panel, Filtered, 13"W x 16"D w/rear solid panel for 29"W enclosure
BPS24 Bottom Panel, Solid, 13"W x 16"D w/rear solid panel for 24"W enclosure
BPS29 Bottom Panel, Solid, 13"W x 16"D w/rear solid panel for 29"W enclosure
BPB24 Brush Grommet w/rear solid panel for 24"W enclosure

BPB29 Brush Grommet w/rear solid panel for 29"W enclosure

BP-ES24B Rear bottom panel for 24"W enclosures
BP-ES29B Rear bottom panel for 29"W enclosures

BP-ES Bottom panel, solid (For GL300E, GL480E & GL600E Only)
BP-EF Bottom panel, filtered (For GL300E, GL480E & GL600E Only)
BP-EB Brush grommet (For GL300E, GL480E & GL600E Only)

FILTERE Filter, 1.00"H x 10.50"W x 13.50"D
50



Accessories

Door Handles

L] L
CH-01 CH-02 CH-03 CH-04
PART NO. DESCRIPTION
CH-01 Four digit combination handle
CH-02 Three digit combination handle
CH-03 Pad lock handle with key
CH-04 Pad lock handle

NOTE: All handles are interchangeable with all E & ES Series doors

>
o
o
®
o
7]
o
=}
@
(7]

Intelligent Systems - E-Line System by DIRAK
Controlling & Monitoring Access in your Data Centers

—a IT enclosures house sensitive data and data center managers are called
|M upon to demonstrate dilligence in protecting the enclosures from unau-
thorized access and from tampering. The solution is E-LINE by DIRAK.

- Benefits:
1 » Central Control * Endless History
: J * Remote Monitoring * Assignement Flexibility
* Immediate Change * Scalability

PART NO. DESCRIPTION

DIRAK HANDLE Electronic swing handle by DIRAK® - HID, wireless, wired, IP addressable
full function administration software - Single or System quotes available.
Please contact Great Lakes Tech Support or visit werackyourworld.com for
a survey of your requirements.

MNMounting Rails and Reducer Brackets

PART NO. DESCRIPTION

Universal EIA 19" or 23" Mounting Rails

7205-ES1P Pair of EIA Tapped 10/32 Mounting Rails
7805-ES1P Pair of EIA Tapped 10/32 Mounting Rails (19" only)
8405-ES1P Pair of EIA Tapped 10/32 Mounting Rails

Universal 19" or 23" Mounting Rails to Accept M6 Cage Nuts

3005-E2P Pair of EIA Mounting Rails to Accept M6 Cage Nuts (19" only)
4805-E2P Pair of EIA Mounting Rails to Accept M6 Cage Nuts (19" only)
6005-E2P Pair of EIA Mounting Rails to Accept M6 Cage Nuts (19" only)
7205-ES2P Pair of EIA Mounting Rails to Accept M6 Cage Nuts
7805-ES2P Pair of EIA Mounting Rails to Accept M6 Cage Nuts (19" only)
8405-ES2P Pair of EIA Mounting Rails to Accept M6 Cage Nuts

Reducer Brackets

2319 Pair Recessed Reducer Brackets, 23" to 19" (8.625"H)
2319-F Pair Flush Reducer Brackets, 23" to 19" (5.25"H)
2319F1.75 Pair Flush Reducer Brackets, 23" to 19" (1.75"H)

51



Accessories

Stationary Shelves for 19" and 23" Mounting

7206-FR-AHD
7207-FR-AHD
7206-FR-ADHD

7206-BT
7207-BT

7206-FM 7206-EIA
7207-EIA
7207-18

7206-14 7206-FR-A28HD
7206-FR-A32HD*
RACK WEIGHT MAX. SHELF

PART NO. WIDTH DEPTH MOUNTING CAPACITY TAB PLACEMENT
7206-FM 17.25" 18.00" 19" 60 Ibs. -
7206-EIA 17.468"  18.00" 19" 80 Ibs. -
7206-14 17.50" 14.00" 19" 80 Ibs. -
7206-FR-AHD 17.50" 22.25" 19" 200 Ibs. 26.125"
7206-FR-ADHD  17.50" 27.25" 19" 150 Ibs. 32.250"
7206-FR-A28HD 17.50" 28.00" 19" 300 Ibs. 30.18"
7206-FR-A32HD* 17.50" 32.00" 19" 300 Ibs. 36"
7206-BT 17.00" 20.75" 19" 300 Ibs. 25.250"
7207-EIA 21.50" 18.00" 23" 35 Ibs. -
7207-18 21.50" 18.00" 23" 35 Ibs. -
7207-FR-AHD 21.50" 22.25" 23" 200 Ibs. 26.125"
7207-BT 21.00" 20.75" 23" 300 Ibs. 25.250"

*Fits in 36" deep enclosures

Sliding Shelves and Drawer for 19" and 23" Mounting

(%]
)
=
(=]
@
]
]
o
]
<

Yoaoaw

7206-FRSL-AHD

7207-FRSL-AHD  7206-FRSL-AT, 7207-FRSL-AT ~ 7206-FRSLA300 * 7206-SL, 7207-SL 7206-DR, 7207-DR
_ _ 7206-FRSL-ADT

7206-FRSL-ADHD RACK WEIGHT MAX. SHELF
PART NO. WIDTH  DEPTH MOUNTING CAPACITY!  TAB PLACEMENT
7206-FRSL-AHD  17.50"  22.00" 19" 110 Ibs. 26.125"
7206-FRSL-ADHD  17.50"  26.00" 19" 110 Ibs. 32.125"
7206-FRSL-AT 17.50"  22.00" 19" 110 Ibs. 26.127"
7206-FRSL-ADT 17.50"  26.00" 19" 110 Ibs. 32.125"

Mew 7206-FRSLA300 14.33"  30.00" 19" 300 Ibs. 36.12"

7206-SL 16.343"  17.50" 19" 40 Ibs.2 _
7206-DR 16.00"  18.875" 19" 100 Ibs.3 25.500"
7207-FRSL-AHD  21.50"  22.00" 23" 110 Ibs. 26.125"
7207-FRSL-AT 21.50"  22.00" 23" 110 Ibs. 26.127"
7207-SL 20.343"  17.50" 23" 35 Ibs.? -
7207-DR 20.00"  18.875" 23" 100 Ibs.3 25.500"

NOTES: 1. Weight capacities determined with shelf pulled out/weight extended
2.7206SL and 7207SL sliding shelves use 14" slides rated at 60 Ibs.
3. 16" slides rated at 120 Ibs., drawers 7" in height

Specialty Shelves for 19" Mounting

H ol 7206-PKB-MT
-NEW % Pivoting Keyboard
N 7206-MKM Tray w/Mouse Tray
Monitor/Keyboard/Mouse for 19" Mounting
Sheft RACK WEIGHT MAX. SHELF
PART NO. WIDTH  DEPTH MOUNTING  CAPACITY  TAB PLACEMENT
Mew 7206-MKM 17.00" _ 24.00" 19" 200 Ib. 36.12"

9 7206-PKB-MT 20.625" 9.50" 19" N/A 36.12"



Accessories

Vertical Power Outlet Strips

Slim Design

,.-'“'__"’:ﬁ gasEsEEs U
218-24 ¢ us
7215 7218-
(For GL480E and GL600E only)

LISTED

Receptacles
NEMA NEMA  CEE7/T
Q) 520P QL 530P (7o) SCHUKO
20 Amp Twist Lock Twist Lock | \u’/ 15 Amp
20 Amp 30 Amp
PART NO. OUTLETS LENGTH/FEATURES
7215 16 49" Circuit Breaker, 5-15P Plug, 5-15R Receptacle
7215-S 16 49" Surge Suppressor, C.B, 5-15P Plug, 5-15R Receptacle
Hew 7215-20ARTLP 16 49" C.B., Twist Lock Plug L5-20P, 5-20R Receptacle
7215-20AR 16 49" Circuit breaker, 5-20P Plug, 5-20R Receptacle
7215-30A 24 48" Two banks of 12 NEMA 5-20R Receptacles, L5-30P Plug
7215-EURO 12 31.33" SCHUKO receptacles & plug 16 Amp, 250V, 9' 10" cord
7218-24 8 25" Circuit Breaker, 5-15P Plug, 5-15R Receptacle
NOTE: All Great Lakes power strips are installed when ordered with an enclosure. >
[x}
Hew UNIVERSAL POWER STRIP BRACKETS (For use with non-Great Lakes power strips/PDUs, accepts keyway/button mounting.) %
PART NO. DESCRIPTION %.
PSBKE Power strip mounting bracket kit, allows mounting of single PDU in rear corner of E-series enclosure 2
PSBKES Power strip mounting bracket kit, allows mounting of two PDUs in rear corner of ES-series enclosure

Great Lakes Case & Cabinet offers the greatest selection of custom
Power Distribution Units in the enclosure industry.

Wide Range of Configurations & Options Include:

* 125V, 250V * Temperature and Humidity Monitoring
* NEMA & IEC (remote)

* 15 Amp, 20 Amp, 30 Amp  Digital current monitoring

» Surge and non-surge e Multiple Circuits

* I[P Addressable * Branch Circuit Protection

* Full remote monitoring & management * Rack Mount and Vertical Mounting

including rebooting by outlet

Please visit our website at www.werackyourworld.com for a survey of your needs!

Lead time on PDU's is 7-10 working days.

19" Rack Mount Power Outlet Strips

7219-SR14 Front

7219 LISTED
PART NO. OUTLETS LENGTH/FEATURES
7219 6 Front 19" Circuit Breaker, 5-15P Plug, 5-15R Receptacle
Hew 7219-SR14 6 Front/8 Back 19" Circuit Breaker, Surge Suppressor, 5-15P Plug, 5-15R Receptacle
7219-20AR 6 front 19" Circuit Breaker, 20 amp, 5-20P Plug, 5-20R Receptacle

NOTE:AIl power outlet strips supplied with circuit breakers and 15' cord, unless otherwise noted.

53



[}
(]
=
[~}
7]
7]
]
)
o
<<

54

Accessories

Cooling Devices

s

. A 4

T217FT 7217FT-3 7217FT-6

7217FT-9

Fan shown
—— on optionl
h : bevel mesh
: .l door, see
page 49 for
door info.
7217LE3
FTBKT90
Shown with 7217FT FTC101 7217ECS
PART NO. DESCRIPTION
7217FT Fan Assembly w/Fan Guards and Three 75 CFM Fans

7217FT-3* Fan Tray w/Three 75 CFM Fans, Fan Tray Adjustable Front to Back
7217FT-6* Fan Tray w/Six 756 CFM Fans, Fan Tray Adjustable Front to Back
7217FT-9* Fan Tray w/Nine 75 CFM Fans

FTBKT90 Fan Bracket to mount the 7217FT at 90 degree angle

NOTE: Fan tray stock color is black. All fan trays 19" rack mounted.

* Adjustable 19" Front and Rear Mount

23" to 19" Reducer Brackets available, see page 51

FTC101 Fan Thermostat Controller
Thermostat controlled 15 amp duplex outlets, UL listed, CSA certified
thermostat, 50° to 90°F / 10° to 30°C temperature range, 6 ft. cord.

7217ECS Rack mount enclosure blower, 2RMU, UL Listed,

blower reduces enclosure hotspots up to 15°F, five year life
7217LE2 Fan Kit w/Two 75 CFM fans - for use w/24"W bevel mesh door
7217LE3 Fan Kit w/Three 75 CFM fans - for use w/29"W bevel mesh door

Cable Organizers - 19" Mounting

CM-02 CM-05 CM-09
CM-04 CM-08
I.D. RING DIMENSIONS

PART NO. DESCRIPTION SIDE NUMBERRINGS WIDTH DEPTH
CM-02 Low Density Front Cable Organizer Front 2 Vertical 1.80" 3.80"
CM-04 Interbay Cable Organizer Front 4 Horizontal 3.25" 2.80"
CM-05 Single-sided Cable Organizer Front 5 Horizontal 1.30" 1.80"
CM-08 Standard Front Cable Organizer Front 4 Horizontal 1.75" 3.75"
4 Vertical 1.75" 3.75"

CM-09 2-sided Cable Organizer Front 4 Horizontal 1.30" 2.30"
Rear 5 Horizontal 1.30" 1.80"



Accessories

Cable Rings

CM-13 CM-44 CM-425
I.D. RING DIMENSIONS
PART NO. DESCRIPTION WIDTH DEPTH
CM-13 Single Cable Ring 1.06" 2.80"
CM-44 4" Auxiliary Ring 3.80" 3.80"
CM-425 Heavy Duty Cable Ring 2.30" 3.80"

Strain Relief Bars

e — M K. 4

CM-19 19SRB

CM-03
PART NO. DESCRIPTION >
CM-19 19" Utility Strain Relief Bar §
19SRB 19" Cable Strain Relief Bar 3
23SRB 23" Cable Strain Relief Bar 2
CM-03 Back Side Cable Management @

Cable Management Panels

“

CM-10 WITH CM-01 CINCH STRAP CM-32 WITH CM-01 CINCH STRAP
PART NO. DESCRIPTION
CM-10 19" Horizontal with 10 Slots, .250" x 2.00"
CM-32 19" Horizontal with 10-32 Tapped Holes, 9 Pls.

Cable Management Cinch Straps

CM-01
shown attached to
universal M6 rail

CM-06
shown attached to
a plywood wall

PART NO. DESCRIPTION
CM-01 12" Length x 3/4" Width with Buckle and Grommet, Color: Blue  1-10 pcs
11-100 pcs
CM-06 6" Length x 3/4" Width with Buckle and Grommet, Color: Black  1-10 pcs
11-100 pcs 55




n
)
=
[=]
7]
7]
]
(X
o
<

56

Accessories

Lacing Bars

— Horizontal lacing bar —

— Vertical lacing bar — F
|lu'

PART NO. DESCRIPTION
VLB-7232 Vertical lacing bar kit (72"H x 32"D enclosure)
VLB-7236 Vertical lacing bar kit (72"H x 36"D enclosure)
VLB-7832 Vertical lacing bar kit (78"H x 32"D enclosure)
VLB-8432 Vertical lacing bar kit (84"H x 32"D enclosure)
VLB-8436 Vertical lacing bar kit (84"H x 36"D enclosure)
NOTE: All lacing bar kits include 1 vertical lacing bar, 2 horizontal lacing bars and 6 CM-01 velcro straps

HLB-32 Horizontal lacing bar (32"D enclosure)
HLB-36 Horizontal lacing bar (36"D enclosure)
VLB-72 Vertical lacing bar (72"H enclosure)
VLB-78 Vertical lacing bar (78"H enclosure)
VLB-84 Vertical lacing bar (84"H enclosure)

NOTE: All vertical lacing bars include 6 CM-01 velcro straps

Levelers, Casters and Anchor Kit

| —

’ l 7209-N 7208-E 7208-EALL AK101
: & F ) 3
i 7209-N4 “~

PART NO. DESCRIPTION

7209-N Adjustable levelers (2.50" in height) — one set of four
7209-N4 Adjustable levelers (4.00" in height) — one set of four
7208-E Casters — one set of four (2 locking & 2 non-locking)
7208-EALL Casters — one set of four (all 4 locking)

7208-EHD Heavy Duty Casters - one set of four (all 4 locking)
AK101 Seismic anchor kit - heavy duty carbon steel

CWE Caster and leveler wrench

NOTE: When casters & levelers are used together, 4" levelers are required.



Accessories

Copper Bus Bars

en -

Rack Mounted CBB-19

on a CMR-84
PART NO. DESCRIPTION
CBB-19 Copper Bus Bar 19" Rack Mounted (Isolated)
CBB-30 Copper Bus Bar 25.50" (Isolated) - used in the GL300E Series
CBB-48 Copper Bus Bar 45.75" (Isolated) - used in the GL480E Series
CBB-60 Copper Bus Bar 58.00" (Isolated) - used in the GL600E & GL720E Series
CBB-72 Copper Bus Bar 70.00" (Isolated) - used in the GL780E & GL840E Series

Grounding Kit and Networking/Ganging Kit

PART NO. DESCRIPTION

GR101 Grounding kit includes 6x flat tinned braided copper ground straps that are 10-awg
equivalent, 53 Amp capacity, and #10 terminal size. Also included in the kit are 24 x 10/32
nuts with tooth lock washers and 24x zinc plated washers.

>
o
o
®
o
7]
o
=}
@
(7]

G101 Networking/ganging kit - No Tools Required!

Filler Panels

‘

1.75-FP19 3.50-FP19 595-FP19
PART NO. HEIGHT RACK MOUNTING
1.75-FP19 1.75" 19"
3.50-FP19 3.50" 19"
5.25-FP19 5.25" 19"
1.75-FP23 1.75" 23"
3.50-FP23 3.50" 23"
5.25-FP23 5.25" 23"

NOTE: Other sizes are available by request, please contact your Great Lakes Representative for more information

Rack Lights

*Lights come with one or two 12" goose neck +6' cord and transformer

*Bright 5 watt bulbs +Light is recessed into a standard 19" rack
*Dimmer rheostat mount panel that is one rack unit high
PART NO. DESCRIPTION
RLS10 Rack Light, single goose neck
RLD20 Rack Light, dual goose neck

Note: Also available with 220V Europlug converter (schuko), special order only 57



Accessories

Mounting Hardware

): ‘d‘ HDW-104-50 ir? ﬂ HDW-105-50
¢ -

PART NO. DESCRIPTION

HDW-101-50 Package of 50 Pan Head Phillips 10-32 x 1/2" Screws, Type 23, Zinc
HDW-102-50 Package of 50 Pan Head Phillips 10-32 x 1/2" Screws, Type 23, Black
HDW-103-50 Package of 50 Pan Head Phillips 12-24 x 1/2" Screws, Type 23, Zinc
HDW-104-50 Package of 50 Pan Head Phillips 12-24 x 1/2" Screws, Type 23, Black
HDW-105-25 Package of 25 M6 Cage Nuts w/Screws - 12mm Screw Length
HDW-105-50 Package of 50 M6 Cage Nuts w/Screws - 12mm Screw Length
HDW-106-25 Package of 25 Cage Nuts w/10-32 Screws

HDW-106-50 Package of 50 Cage Nuts w/10-32 Screws

Cabinet Extensions

—

n
)
=
(=]
@
7]
]
o
]
<

FEATURES: -J!?W

» Easy to Assemble Cabinet Extension

* Top & Bottom Have Cable Access Knock-out
* Integrated Power Strip Bracket

* Allows Additional 4" of Equipment Depth
Stackable - Giving You 8" of Additional

' Equipment Depth (maximum of 2)

Available on E-Series Enclosures

Utilizes Standard Doors

Door Remains Reversible

* Mounted to Front or Back of Enclosure

-
* Ships Unassembled

PART NO. DESCRIPTION

72E24EXT4 4" Cabinet extension fits 72"H x 24"W E-Series Enclosures
72E29EXT4 4" Cabinet extension fits 72"H x 29"W E-Series Enclosures
78E24EXT4 4" Cabinet extension fits 78"H x 24"W E-Series Enclosures
84E24EXT4 4" Cabinet extension fits 84"H x 24"W E-Series Enclosures
84E29EXT4 4" Cabinet extension fits 84"H x 29"W E-Series Enclosures

Available in Black Only.
NOTE: Extensions supplied with power strip bracket for mounting Great Lakes power strips

UNIVERSAL POWER STRIP BRACKETS (For use with non-Great Lakes power strips/PDUs, accepts keyway/button mounting.)
PART NO. DESCRIPTION

PSBKEXT Power strip mounting bracket kit, allows mounting of single PDU in enclosure extension

58





